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Max. Marks: - 75 
 Note: - 
Part – A is compulsory. It should be attempted on the question paper & handed 
over to the Centre Superintendent after 30 minutes. Cutting, erasing & 
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Time: - 
30 Minutes 


Part – A 



Marks: - 15 

Q.1: -  
  (a)
Choose the correct answer. 
i. 
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 is equal to ____________.      a) x+c
        b) 
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ii. 
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is equal to _______________.           
     a) logcosx+c        b) logsinx+c      c) logSecx+c
iii.  In the method of integration by trigonometric substitution we use x = asin θ for  ______________  
a)
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                    iv.   If  θ is the inclination of a line then its slope is ________________    
   a) Sin θ 
    b) Cos θ 
     c) Tan θ

                    v.  Y-intercept of the line 3x+4y-12 = 0 is ______________.       a) 2     b) 3  c) 4 
(b) Fill in the blanks. 

i.  Integration is the inverse process of ______________ . 
ii.  
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 is equal to _______________. 
iii. The degree of the differential  equation x 
[image: image9.wmf]1

2

=

÷

ø

ö

ç

è

æ

dx

dy

 is ________________. 
iv. The general equation of a straight line is __________________. 
v. The radius of the circle x2+y2 = 2 is ________________. 
 
( c ) 
Choose the correct answer from Column – II and write it in the space 
provided against each item in Column I .  
	
	Column – I
	
	Column – II

	i)
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 = _____________
	i)
	0

	ii)
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= _______________
	ii)
	1

	iii)
	The order of differential equation x 
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= 1 is ______
	iii)
	2

	iv)
	A horizontal line has slope equal to ______________ 
	iv)
	3

	v)
	Radius of circle x2+y2 =16 is _____________
	v)
	4 

	
	
	vi) 
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	vii) 
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	viii) 
	Undefined 
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 Part – B
Note: - 

Attempt any Six questions. All questions carry equal marks. 
Q.No.2: - 
Find the following integrals 


a) 
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b) 
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Q. No.3: - 
Find the following integrals. 


a) 
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b) 
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Q.No.4: - 
Find the integrals. 



a) 
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b) 
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Q.No.5: - 
Integrate the following. 


a) 
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b) 
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Q.No.6: - 
Evaluate 
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Q. No.7: - 
Solve the equation 
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Q.No.8: -  
Find the value of b so that the distance between (1, b) and (-1, 5) is 
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Q.No.9: - 
Find x, if the line through (-1, 5) and (-4, 3) is parallel to the line through (4, x) 

and (6, -1)
Q.No.10:- 
Find the centre and radius of the circle.  


x2+y2-4x+6y-12=0
******************
Sign of Supdt:- 


_________________ 
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